Competency Based Test Class-9

Month- October Subject — Social Science

1. Consider the following statements and choose the correct option.

Hitler was against the Versailles Treaty.

Hitler became Chancellor in 1930.

Hitler pulled out of the League of Nations in 1931.
Germany preoccupied Rhineland in 1934.
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Answer:- A. Hitler was against the Versailles Treaty.

Explanation:- The German defeat horrified him and the Versailles Treaty made him furious. On 30
January 1933, President Hindenburg offered the Chancellorship, the highest position in the cabinet of
ministers, to Hitler. He pulled out of the League of Nations in 1933, reoccupied the Rhineland in 1936.

2. 'On 3rd March, 1933, the famous Enabling Act was passed, which gave Hitler all powers to
sideline Parliament and rule by decree'

Which statement accurately describes the main purpose of the Enabling Act?

It allowed Hitler to rule by decree, bypassing Parliament.

It officially banned all political parties except the Nam Party.

It aimed to improve the German economy through financial reforms.

It strengthened the authority of the Weimar Republic and its democratic institutions.
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Answer:- A. It allowed Hitler to rule by decree, bypassing Parliament.
Explanation:- On 3 March 1933, the famous Enabling Act was passed. This Act established dictatorship in
Germany. It gave Hitler all powers to sideline Parliament and rule by decree.

3. Assertion (A) The US entered the Second World War.
Reason (R) Japan bombed the US naval base at Pearl Harbour.

Both A and R are true and R is the correct explanation of A
Both A and R are true, but R is not the correct explanation of A
A is true, but R is false

A 1s false, but R is true
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Answer:- A. Both A and R are true and R is the correct explanation of A
Explanation:- When Japan extended its support to Hitler and bombed the US base at Pearl Harbor, the US
entered the Second World War.

4. Assertion (A) The German economy was the worst hit by the economic crisis.
Reason (R) By 1930, industrial production was reduced to 60 per cent of 1929 level.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true, but R is not the correct explanation of A
C. Astrue, but R is false

D. A is false, but R is true

Answer:- C. A is true, but R is false
Explanation:- The German economy was the worst hit by the economic crisis. By 1932, industrial
production was reduced to 40 per cent of the 1929 level.



5. Consider the following image. What does this picture depict?

Unemployed youth taking rest.

Unemployed persons sleeping on the Railings.

Unemployed person sleeping on the line during the Great Depression.
They were waiting for the jobs.
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Answer:- C. Unemployed person sleeping on the line during the Great Depression.
Explanation:- FIG. 6, Sleeping on the line. During the Great Depression the unemployed could not hope for
either wage or shelter.

6. The temperature in Narmadapuram of Madhya Pradesh in the month of June is 42°C but in
Pachmarhi, the hill station situated in Satpura mountain range of Narmadapuram district, the
temperature is 30-32°C.

What is the reason for this weather condition?

Due to higher latitude

Temperature decreases with height.
Distance from sea

Due to day-to-day weather
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Answer:- B. Temperature decreases with height.
Explanation:- As we go up, temperature decreases. Temperature decreases with elevation (height). That is
why the highest parts of a mountain generally have the lowest temperature.

7. See the following picture that shows a weather condition of a hilly place and choose the correct

option.
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You can grow same crops both the side of hill

You will experience same weather condition both the side of hill.
More vegetation-cover windward side.

Barren land windward side.
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Answer:- C. More vegetation-cover windward side.
Explanation:- Windward area gets much amount of rainfall so we can see More vegetation-cover windward
side.



8. A person wants to visit an area receiving more than 200 cm rainfall in India which of the state
given below he should visit.............

A. Rajasthan

B. Madhya pradesh
C. Kerala

D. Bihar

Answer:- C. Kerala

Explanation:- Regions of high rainfall: The following areas receive rainfall above 200 cm. Highest rainfall
occurs in west coast and sub Himalayan ranges, Meghalaya Hills, Assam, West Bengal, West Coast and
Southern slopes of eastern Himalayas.

9. There are six major controls of the climate of any place. They are latitude, altitude, pressure and
wind system, distance from the sea (Continentality), ocean currents and relief features.

The pressure and wind system of any area depends on which climate control factors?

A. Distance from the sea.
B. Relief Features

C. Latitude and Altitude
D. Gravitational Force

Answer:- C. Latitude and Altitude
Explanation:- The pressure and wind system of any area depends on Latitude and Altitude.

10. Tamil Nadu usually does not receive enough rain during monsoon, but this year, due to the
formation of a weather system over South-West Bay of Bengal, Tamil Nadu has recorded a few
good spells of rain.

When does the Tamil Nadu coast receive a significant portion of its rainfall?

A. June and July

B. August and September
C. October and November
D. December and January

Answer:- C. October and November

Explanation:- Tamil Nadu coast receives a significant portion on October and November

of its rainfall. Tamil Nadu receives most of its rain from north east and retreating monsoons during winter
season.




